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50cm 0.10 0.10
630 R #HELAR |FETRELE 108168
1m 0.09 0.10
50cm 0.11 0.11
631 = HET #HEAR |V ERELE 108168
im 0.11 0.11
50cm 0.10 0.10
632 = HET #HEAR |VHi#2ERELE 108168
1m 0.10 0.10
50cm 0.12 0.1
633 = HET HEAR |VFHH3ERELE 108168
im 0.11 0.11
50cm 0.12 0.1
634 = HET HEAR |VHH4ERELE 108168
1m 0.11 0.10
50cm 0.11 0.10
635 HEET #HXLR |(BEFUWSHRAE 10A 168
1m 0.11 0.10
50cm 0.11 0.10
636 HEET #HRXLAER |BEFLU2EHERAE 10A16H
1m 0.10 0.10
o 50cm 0.11 0.11
- HEBIZa—2D &
637 R #HERAR 5 10A16H
LIai5 im 0.11 0.10
50cm 0.10 0.10
638 R #HEAR |RFERNIGHLLLAE 108198
1m 0.10 0.09
50cm 0.09 0.09
639 = HET HEAR |WEFRT Y=o 108198
1m 0.09 0.09
50cm 0.09 0.08
640 Liih=1:1) HELAR |BofERTvc—2 108198
1m 0.09 0.08
50cm 0.10 0.10
641 R HEAR (Wi BMILE 108198
1m 0.10 0.09
50cm 0.11 0.11
642 HEET bl /NI -8 s /N 108198
1m 0.11 0.11
50cm 0.09 0.10
643 = HET & EFRIL1EHKE 108198
1m 0.10 0.09
50cm 0.10 0.09
644 = HET & EFIL2E#HKE 108198
1m 0.10 0.09
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